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BT - mg/0 (KABHEIRK : CFU/100m0)
# E H H
® Ey # 7l {ﬁg‘é %i |k RS B & pH po | BoD | cop | ss (é‘;%e?‘%) (’&Hg) NH,~N | NO,N | NOs-N Egﬁ 0-N {%Fg%l(%m%‘
X U P & 29 | 9:25| 9.1 12.5| EE MEE 7.20 14.7| 10.0] 0.7| <0.5| <1 <0.5 <0.5 6.9| 0.07 1.8 1.9| <0.04 52
A b 3 1% =1 9:10| 8.8| 13.0| EE pii 3] 7.0 12.8| 10.0 0.9 0.6 <1 <0.5 <0.5| 0.66| <0.02 8.1 8.1| <0.04 220
R I * S & 29 | 13:25| 9.0| 14.0| $EE MEE 7.1; 13.4| 10.0] 1.6 2.1 3 <0.5 <0.5| 0.66| <0.02 7.3 7.3| <0.04 360
% B/ T & i | 11:47| 8.1| 13.0| #EE pii 3] 7.3; 17.6] 10.0 2.6 2.0 3 <0.5 <0.5| 0.85 0.20 8.3 8.5 <0.04 80
BE A B (F F) FEiL | 10:44] o9.2| 11.0| EE& MEE 7.1 17.4[ 9.2 2.2 2.8 4 <0.5 <0.5| 0.47| 0.15 5.2 5.3 <0.04 300
x B B I Fiic] 7] & W4 | 11:10( 12.0f 10.5 0 fo fii 3] 7.0 17.4| 10.0 2.2 2.6 3 <0.5 <0.5| 0.61| 0.12 4.4 4.5| <0.04 600
x B HEHB (KE) FEiL | 11:23] 1L.9| 10.0| EE MEE 7.2} 17.8 10.0f 2.1| 2.6 3 <0.5 <0.5| 0.56] 0.19 4.2 4. 4| <0.04 440
T AN N B B 15 FEiL | 13:15] 12.0 14.0| fEE 328 7.3 17.9 10.0| 2.5 3.2 <1 <0.5 <0.5| 0.82| 0.23 4.3 4.5| <0.04 400
& I s — ¥ B B 29 | 11:22| 12.1] 10.0| EE& B 7.3} 12.6 12| 11| <o.5] <1 <0.5 <0.5| 0.45| <0.02 2.4 2.4| <0.04 66
[ B 1% R | 13:32| 9.1 10.0 fEf mR 7.7¢ 19.3 11 1.2| <0.5 <1 <0.5 <0.5| 0.15| 0.09 4.2 4,3| <0.04 100
s = H -3 £y | 9:40| o9.1| 10.0| EE B 7.3} 14.2 10/ 1.2 0.5 1 <0.5 <0.5| 0.73]| <0.02 2.5 2.5| <0.04 42
X B K ® & R | 10:02| 7.6| 11.0 fEf mR 7.3f 17.5 10 2.4 2.7 5 <0.5 <0.5| 0.39] o0.12 4.7 4.8 <0.04 2,200
/A X & (& B ) BEL | 9:44| o9.2| 13.5|%E (B) B 7.2¢ 18.3| 9.0 22 15 13 <0.5 <0.5 13| 0.33 8.5 8.9 1.3 1,200
WA X 2/ (& B ) R | 10:25| 9.8| 12.0 fEf ER 7.4 17.4 9.2 4.4 4.8 2 <0.5 <0.5 1.2 o.27 8.6 8.9 <0.04 600
B »OF B O(® d ) 29 | 10:05| 10.1] 10.0| 4EE B 7.6 13.6 10 2.0 <o0.5] <1 <0.5 <0.5| 0.49| <0.02 2.8 2.8| <0.04 300
=yl TEERK (H 1) 29 | 10:13| 6.2 10.0| & mR 7.6 12.8 10 4.7 3.8 2 <0.5 <0.5| 0.50| <0.02 2.8 2.8 0.23 94
oy ¥ N & BB (E, ) 209 | 10:30) 7.1| 10.0| E& R 7.6; 14.5 10| 1.4/ 3.8 10 <0.5 <0.5| 0.47| <0.02 4.1 4.1| <0.04 440
=l R O(F ¥ ) R4 | 10:57| 8.5| 10.0 fEf ER 7.4} 18.3 10 1.9 0.9 2 <0.5 <0.5| 0.26] o0.11 3.1 3.2| <0.04 1R
2 SHEAE (BukA) 29 | 13:11] 1.5 7.0{FBEE|LRERE| 8.7 17.7| 5.2| 150| 260| 640 <0.5 <0.5 60 3.9 29 33 29 27, 000
3 Bk 29 | 13:16 10| 5.0|%® (B) F3 =) 7.4; 17.5 12 20 17 13 <0.5 <0.5 20 7.2 43 50| <0.04 5, 700
S EAR (2. 35HKIBENR) 219 | 13:20] 9.0| 10.0{FBEE) | LrkR@| 7.8 17.9] 8.1 100 67 87 <0.5 <0.5 22 1.3 30 32 4.1 7,000
FINE ORRE R | 11:57| 10.5| 16.0 4Ef HR 7.0{ 15.0 10 0.7 <0.5| <1 <0.5 <0.5| 0.22| 0.10 7.9 8.0/ 0.05 100
A FHAE (bSO ERHT) B | 9:25| 7.0| 6.0|®EE (F) | FARG 7.3; 19.1| 1.8 110 24 260 <0.5 <0.5 55 1.6 28 29| <0.04 8, 800
5 BHEAKER (IS 9 ME) fEh | 11:38| 10.5| 10.0| % (BA) R 6.8; 13.1| 9.6/ 5.6/ 8.7 2 <0.5 <0.5 2.6| 0.31 7.0 7.3 6.1 4,400
HlbiER PRI EWg s (Bikiik) | 29 | 13:35| 9.6 | 13.0 [%®\& (b)) |LRER@| 7.3) 18.5| 4.2 68 160 76 <0.5 <0.5 41 1.1 27 29 3.3 270, 000
E ® i3 FR & 0.5/ 0.5/ 0.5 1 0.5 0.5| 0.02| 0.02] o0.02] o0.04] o0.04 1
A -2 il #* ba & 6.5<P<8.5 |7.5<P|P=<2.0 P=25.0 P<10.0 P=200
B B pir p: # & 6.5=P=8.5 [5.0=P|P=<3.0 P<25.0 P<10.0 P=1, 000
C H il #=* ba & 6.5<P=<8.5 |5.0<P|P=<5.0 P=50.0 —
E e Eir P % & 6.0=P=<8.5 |2.0<P|P<10.0 - —




